CONNECTING COMPETENCE. SCHRAEK

TECHNIK

MX Switch Disconnector

& User instructions

PAGE 1/10
SCHRACK TECHNIK GMBH
Seybelgasse 13, AT - 1230 Vienna, PHONE +43 1/866 85-0
E-MAIL info@schrack.com, INTERNET www.schrack.com

User Manual / 03-2022
Errors and omissions excepted.



CONNECTING COMPETENCE. SCHRAEK

TECHNIK

& Scfety Warning

1) The product can only be installed and maintained by professionals

2) ltis strictly prohibited to install in the environment containing inflammable, explosive gas and moist condensation
3) Do not touch the conductive part of zje product during working

4) Power must be turned off when the product installed and maintained

5) The product should not be installed at places where corrosive gas medium may cause damage to metals andinsulati-
ons

& Environmental protection

In order to protect the environment, the product or product parts should be disposed of according to the industrial waste
treatment process, or be sent to the recycling station for assortment, dismantling and recycling according to local regula-
tions.

& Operating conditions
Temperature:

Operating and storage temperature is -40° C~+70° C; the average value within 24 hours does not exceed +35° C;

when the ambient temperature is -40° C~+70° C, users need to consider derating or temperature compensation .
Altitude: £ 2000m;

Pollution grade: Grade 3;

IP grade: P40

Air conditions:

At mounting site, relative humidity not exceed 50% at the max temperature of +40 , higher relative humidity is allowab-
g Y P g Y

le under lower temperature. For example, RH could be 90% at +20, special measures should be taken to occurrence of dews.

PAGE 2/10
SCHRACK TECHNIK GMBH
Seybelgasse 13, AT - 1230 Vienna, PHONE +43 1/866 85-0
E-MAIL info@schrack.com, INTERNET www.schrack.com

User Manual / 03-2022
Errors and omissions excepted.



& Inspection, testing

CONNECTING COMPETENCE. SCHRAEK

a@a;ﬁi‘% @o@%é@
MX1 3P 2 (M5x65) 6 (M6x16)
4p 4 (M5x65) 8 (M6x16)
MX2 3P 2 (M5x75) 6 (M8x20)
4P 4 (M5x75) 8 (M8x20)
MX34 3P 4 (M5x85) 6 (M10x30)
4p 6 (M5x85) 8 (M10x30)
MX38 3P 4 (M5x95) 6 (M12x30)
4P 6 (M5x95) 8 (M12x30)
MX4 3P 4 (M5x110) 12 (M10x40)
4p 6 (M5x110) 16 (M10x40)
& |nstallation position
SV
Perpendicular and 90° 0 - s 90°
in all directions
90: T— )
\//\ - 90°
90"~

SCHRACK TECHNIK GMBH
Seybelgasse 13, AT - 1230 Vienna, PHONE +43 1/866 85-0
E-MAIL info@schrack.com, INTERNET www.schrack.com

TECHNIK

PAGE 3/10

User Manual / 03-2022

Errors and omissions excepted.



Line
Q 3 5L~ ©
A
¢ 1T T b
— |

CONNECTING COMPETENCE. SCHRAEK

TECHNIK

Insulation panel Metal panel
Model | Ue[V] | A | B P P

C1 C2 C1 C2
<660 10 30 30 35 35

MX1
>660 20 30 30 35 35
<660 10 30 30 35 35

MX2
>660 10 20 30 30 35 35
<660 10 30 30 35 35

MX34
>660 20 30 30 35 35
MX38 20 130 130 170 170
MX4 20 130 130 170 170

SCHRACK TECHNIK GMBH

Closing

Seybelgasse 13, AT - 1230 Vienna, PHONE +43 1/866 85-0
E-MAIL info@schrack.com, INTERNET www.schrack.com

Opening

Closing

Tripping

PAGE 4/10

User Manual / 03-2022
Errors and omissions excepted.



& Dimensions

CONNECTING COMPETENCE. SCHRAEK

TECHNIK

MX1
2 2
s :°| 9
q
%
0
5 S x—-—F—-
— | X
)
o &
= 2 26.5
mm
X2
M i€ 140 Y
105 125.2
125
90 105 88
70 82
50 85 725
35 35
0 0
= 20 = 325, 5.
; ~ A4 'é' © ; ~ hd A4 22.5
a LOATVIO N
SoRach iy SR Ra B LY
D T 4 TT——¢ U—l ]
57~ 2X95.5 55 ~14X95.5 g
A b o # @
@ ™) ® q
selael L P 1§ 3 rlelals 8 12 B R I
"""“""ﬁ X L] X HH\—ngX ||| = X" X X
o~ N |
205
h 1.6
- - 155
—~ S
2 g \ﬂ
0 0
= Y =
Y
mm
PAGE 5/10

SCHRACK TECHNIK GMBH
Seybelgasse 13, AT - 1230 Vienna, PHONE +43 1/866 85-0
E-MAIL info@schrack.com, INTERNET www.schrack.com

User Manual / 03-2022
Errors and omissions excepted.



CONNECTING COMPETENCE. SCHRAEK

TECHNIK
MX34
Y Y
140 185 171
106 151 113
45 108
45 926
S| 6XM10 © ! [
(o)
= t— S| 8XM10 A, .8
3 ——ND & s 7
2l . S N AN o
£ 3 . adl e
J [ J 1 , ‘ o} I
517 . I W
44 4 kslp % g
ol ~|=|S X ™ i (&]-
0.
n|lN|o . . o IS = (X . X ™
AN| NN O o LN |AN|IO - o L —— d — —
™M NN | o N X L X
o)
- I
SHIE
[ 17
=
o <
m™m [e)]
g © o 27 H °_||
— o
— -
) i
mm
MX38 mm
193max
i 260 " 133
195 195 127
130 130 111
65 65 32.5
wn n
o > 4=
bl P & e © o — < < © &
<| 6XM12 <
b2 R ® @ i N ® @ ®
N
I3 , T L
<
" o — & ) P
IS B — L —@ - ]
= ® . N o~
ol |Ln|n | m oun|n|n | 2
SRR X~ T X AN X == | A} )
[45) m) Q J
B, 2451 @ B, 2z @ i
® ® ® ® ]
| |
D 5—— o
T RE-X RE-RE- ﬂ
9 @ © 6]
LN < N <
) o ) O
3 of|lel|lal,, = ol lel|lell e —
v v 121
PAGE 6/10
SCHRACK TECHNIK GMBH User Manual / 032022
Seybelgasse 13, AT - 1230 Vienna, PHONE +43 1/866 85-0 £ dser . a.nua ) d
4 rrors and omissions excepte .

E-MAIL info@schrack.com, INTERNET www.schrack.com



CONNECTING COMPETENCE. SCHRAEK

TECHNIK
MX4 239
Y Y 191
333 263 167
280 210 142.6
140 186 1316
84.5 70 4X$5.5 124
o 6X5.5
5 R I o 2 | | A
ol 11019 @[ @ oflle 4o oj¢ o o7 100 ¢l [0 @ o | ¢ o[¢ Lfl:l.c.
q ] R K ] | 12XM10
5 |
[ 86 i
il
|0 N
oV L
o P
— [® q
0 :_-
: 18X011
R R ) !
LN =
Je o o[ ¢ ¢]|ee
g Z( ] R g] R
77 74.5 77
mm
PAGE 7/10
SCHRACK TECHNIK GMBH
User Manual / 03-2022
Seybelgasse 13, AT - 1230 Vienna, PHONE +43 1/866 85-0 -
Errors and omissions excepted.

E-MAIL info@schrack.com, INTERNET www.schrack.com



& Front opening hole size

CONNECTING COMPETENCE. SCHRAEK

TECHNIK

P2
P1 [ 7
. L i
’: \< ) \3 ' :‘ < ! <t
/ A3 . : S A M tomm— =
' ] ' SRRy, : 8]
T Car e o L :
Ao AL N )
B/C A R3
""""""" T R R4(3P)
R5(4P) -

MX1 MX2 MX34 MX38 MX4
P1 73 83 109 128 168
P2 80 89 114 134 168
R1 13 14 36.5 3 43.5
R2 26 28 53 70 87
R3 46.5 54 71.5 97.5 105
R4 93 108 143 198 213
R5 123 143 188 263 283
C1 26 33 41.5 40 112
C2 70 78 116 125 140
C3 50.5 56.5 103 108.5 112
C4 101 113 195 218 224

PAGE 8/10
SCHRACK TECHNIK GMBH 5 User Manual / 03-2022

Seybelgasse 13, AT - 1230 Vienna, PHONE +43 1/866 85-0
E-MAIL info@schrack.com, INTERNET www.schrack.com

Errors and omissions excepted.



CONNECTING COMPETENCE. SCHRAEK

TECHNIK
& Connection accessories
mm
14.5 20, s
12,5
D A L
P ‘ P
tn| 0
BiR=) o~
Bt | 4 T A /K
1.4 — ~ B 15
MX190019— /20— MX290019—/20—
20 8 30 8
v =) ] o
b QD (N
Uat - .
8" 0o} o
O 1o
RN
- Q| ||
| T [ N G I
30 ' N
MX390019— /20—
Type T Ao A 45
25 == Type Z 25 A
mt | I
— ™ Ya 11 LN
O 0| | OO o O] | 7 D 1
N o~ ~ LN —
o J _m I o0 m
e : .
O O O AN T O O O Far' Q} vany 1
50 —
77 50
77
Type L 45 A
yp 5
~ L
% N 3P TZZ
o LN MX4
) . || 4P LLZZ
© OO OO ot
50 o
67 MX490017—/18—
74.5 MX490019— /20—
Note: All connections are optional
PAGE 9/10
SCHRACK TECHNIK GMBH
6 User Manual / 03-2022

Seybelgasse 13, AT - 1230 Vienna, PHONE +43 1/866 85-0
E-MAIL info@schrack.com, INTERNET www.schrack.com

Errors and omissions excepted.



CONNECTING COMPETENCE. SCHRAEK

TECHNIK

/ie; MX1, MX2, MX3’<£ MX4 g
a(mm) b (mm) [c (mm)| d (mm) |e (mm)|f(N.m) |g (N.m)
MX1 4 >7.5 | <7.5 $6.5 |<14.2 6 2
MX2 6 >9.5 | <8.5 $8.5 <25 11 2
MX34/MX36 8 215 <12.5| ¢10.5 <30 25 3
MX38 10 >20 <16 | ¢12.5 | <50 35 3
10 (1250A)
MX4 20 (1600A) >15 <16 | ¢10.5 | <55 25 3
PAGE 10/10
SCHRACK TECHNIK GMBH 7 User Manual / 03-2022

Seybelgasse 13, AT - 1230 Vienna, PHONE +43 1/866 85-0
E-MAIL info@schrack.com, INTERNET www.schrack.com

Errors and omissions excepted.



